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1) For the triangle shown, €= 102.3 °, =28.7 °, and b = 27.4 feet. Find the remaining angle and sides.
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(Oblique triangles are triangles that have no right angles. The Law of Sines can be used to find i = s

missing sides or angles for these oblique triangles. J/
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2) In AABC, a = 10, ZA =30°, and /B = 50°. Find side b to the nearest integer.
3) In AABC, a = \/g , ZA=60° and ZC=90°. Find the length of side c.
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4) In AABC, m<A =55, m<B =20, and side a = 14. Solve the triangle.

5) In AABC, side a = 3, side c = 3\6, and m<AI= 45. Solve the triangle.
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6) In the accompanying diagram of AABC, m<A = 30, m<C = 50, and AC = 13. Solve the triangle.
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